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20, 18, 24, 22, 16
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1) (T, Xi) 2) ¥i.(Xi)? 3) ¥i.Xi
Solution: -
X;=20, X,=18 X3=24 X4=22 Xs=16

1—(Z§’=1Xi)2 = (X1+X2+X3+X4+X5)2

= (20+18+24+22+16)°

= (100)?

=10000

2- 37 (XD? = (Xa)H(Xa) +(X3) +(Xa)*+(Xs)?

= (20)%+(18)%+(24)%+(22)%+(16)?
= 2040

= (X1+X2+X3)

=20+18+24

=62

3- X, Xi

(Yi = 5, 2, 6) 3

1- Y2 Xi*Y3 . vi
2- 33 Xix*Yi

Solution:

1- Y2 Xi* Y3 Yi = (Xq+Xo+Xa) * (Y1+Yo+Y3)

= (3+4+1) *(5+2+6)
=(8)*(13) =104

= (X1#Y1+Xp:Yo+X3+Y3)
=(3)(5) + (4)(2) + (1)(6)

2- Y3 XixYi

=15+8+6 =29
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